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15, The pie-chart below shows the number of vehicles that passed near a school in five days of a
week. The number that passed on Friday was 15.

Wednesday

Caleulate the mean number of vehicles that passed near the school each day. (4 marks)

16, Atrain left station A at 8.00 p.m. and arvived at station B, 570 km away, at 0530h. Find its
average speed for the journey. (2 marks)
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17. The figure below represents a trapezoidal plot of land in which angle EDG and angle DGF are

right angles.
D 42m E

15m| 17m
G F
Calculate the area of the plot in hectares. (4 marks)

18. Mutuku bought a cupboard on hire purchase terms by paying a deposit of Sh 4 500 and 18

‘monthly instalments of Sh 1200 each.

Akinyi bought a similar cupboard and was allowed a 20% discount on the hire purchase price
for paying cash. How much more than Akinyi did Mutuku pay for the cupboard? (4 marks)

201171




image9.jpeg
19, The area of a piece of land on a map whose scale is 1:100 000 is 3.7 cm. Calculate the area of
the same piece of land on a map whose scale is 1:50 000. (3 marks)

20 In one year a school had 750 pupils. The ratio of girls to boys was 7:8. In the following year,
the number of girls increased in the ratio 11:10 while the number of boys decreased in the ratio
19:20. Determine the total number of pupils that year. (3 marks)
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SECTION B (40 marks)
Answer any FIVE questions in this section in the spaces provided.

21 Matiis x years old, whilc his son is y years old. Four years ago Mati's age was twice that of his

son while in 10 years time his age will be 20 years more than the son’s age.

(2)  Form two equations in x and y. (4 marks)

() Solve the equations to determine the values of x and y. (4 marks)
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22.  Acylindrical tank of internal diameter 2.8m and height 1.8m is filled with water.

(a) Calculate the capacity in litres of the water in the tank. (3 marks)

(b) Water is drawn from the tank through a pipe of radius 0.7 cm. The speed of the water
through the pipe is 54 cm/sec.

Calculate the time, in hours, taken to empty the tank. (5 marks)
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23.  Usearuler and a pair of compasses only to construct triangle ABC in which AB = 5 cm, AC =
10 cm, and angle BAC = 37 £°. Construct a perpendicular from point C and let it meet line AB
extended at P. Determine the area of triangle ABC. (8 marks)
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24.  Afactory had two machines A and B. On a certain day machine A packed 10 000 kg of maize
flour into 1 kg and 2 kg packets in the ratio 2:3. On the same day machine B packed 600, two
kg packets. This was £ of the flour packed by machine B. The rest of the flour was packed
in 1 kg packets. The factory then packed the flour into bales of twenty four 1 kg packets and
twelve 2 kg packets. *

Each bale was sold for Sh. 720. Calculate the amount of money realized from the sale of the
flour. (8 marks)
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25.
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Members of a certain company required to elect a chairman. Out of 1728 registered members
128 of them did not cast their votes. There were no spoilt ballots.
Three members Atu, Begu and Chode vied for the seat. Atu got 45% of the votes cast while
Chode got 60% of the number of votes that Atu got. Begu got the remaining number of votes
cast.
Determine the ratio of the number of votes Chode got to the number of votes Begu got.

(8 marks)
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26. On a certain day Emu left town K at 7.00 a.m, and drove to town L a distance of 120 km
at 60 km/h. She stopped at town M at 8.00 a.m. for 30 minutes. She then continued with
the journey at the same speed and reached town L at 9.15 a.m.
On the same day Kiwitleft town L at 8.30 a.m. He reached town K at 10.00 am.

(a) On the grid provided and using the same scale, represent the journeys of the two

motorists. (6 marks)
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How far from town L and at what time did the two motorists meet?

16

(2 marks)
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SECTION A (60 marks)

Answer ALL the questions in this section in the spaces provided.

3 (=54 -4%)+15
2°+73(%6-8)

1 Evaluate (2 marks)

2. Whatis the difference in value between the smallest 8-digit number and the largest 6-digit
number? (2 marks)

3. Findthe value of x+y if x=24x10"and y=5x10". Give your answer in standard
form. (2 marks)

4. Whatis the value obtained when the L.C.M. of the numbers 24, 30 and 54 is divided by the
G.CD. of the same numbers? (2 marks) |

2011/1 2




image3.jpeg
Solve the inequality: % - % -1> i:l (2 marks)

The population of a town is 694560. The number of women is 7824 more than the number of
men. The total number of men and women is three times the number of children. How many
women are there? (4 marks)

In the figure below, lines AD and BC are parallel, and lines DC and OC are equal. Angle DAC
= 32%and angle DBC = 56°.

D
£90 0 C
56°
B
Giving reasons, calculate the size of angle DCO. (3 marks),
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8. Asquare of side 20 cm has each of its sides increased by 20%. Determine the percentage
increase in the area of the square. (3 marks)

9. Afather shared a third of his piece of land among his three children, Muli, Saunya and Ndege.
Muli received } of the part while Saunya received £ of the remainder. The rest of the part
shared was given to Ndege. Find the fraction of the piece of land that Ndege got. (3 marks)

10. The length of a rectangular plot is (x +3) metres. The width of the plot is 5 metres less than
the length. If the area of the plot is 84m”, calculate the width of the plot. (4 marks)
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11, Acylindrical block of metal has a diameter of 28cm and a height of 12 cm. The block is
melted and recast intq § rectangular block 32 cm long and 15 cm wide. Calculate the height of
the block. Take 7 = 3. (3 marks)

12, Using a ruler and a pair of compases only, construct triangle XYZ such that XY = 5.5 cm,
YZ= 7 cm, and angle XYZ = 120°. Construct a circle that touches the sides of the
triangle. Find the radius of the circle. (4 marks)
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13. By selling an article of Sh. 170 a shopkeeper made a loss. Had the shopkeeper sold the article
for Sh. 220, she would have made a 10% profit. Determine the percentage loss. (3 marks)

14, The table below shows international postal charges for air parcels.

Air Parcels
Weight steps Africa | Europe/near | The rest of the.
East world
sh. Cts. [sh. Cis. [sh. s,
1%200g or part thereof |850 00 890 00 (890 00
Each Additional 200g (70 00 [95 00 {110 00
or part thereof upto
315Kg

Asha sent a parcel of 2 kg to Nigeria and another of 14 kg to Japan. Calculate the amount of
money altogether Asha paid for the postage. (3 marks)
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